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A) Explain f‘redueﬁcy re’gb‘ l 0 What are lower Cth off frequenc' ﬂ) and hlghtﬂ' &
cut off frequency (1'2) of an ampl _ S lClﬂllOll of bandwidth in tenms of fl e
& 22 : 7

(7M)‘
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C) Explain the block I;:I)i}z;gram of OP-Amp as am| S (5M)
@) erte a short note on ‘Op-amp as 1ntegrator. ] - |
@3 Answer the followmg questions: (7TM)
A) Convert t_he foll-c_)‘w_lrgg mto
SOP form F(a t.)‘c.)"#' Im(0.5.6.7) and draw [/6
o . | g
A) Convert the following into
POS form F(a be)= I1M(1.4.0.7) and (M)
S e 13) Con_ven the folloiving
i L (B4D)ie =()2= (s
: A e a8 k. “(8M)
S B) Perform A+B & A-B.-A+B using 2's comp oy
b C) D}é;&'&ekp‘léinﬁhe working of RS ﬂipﬂ(l-'
B P on | :
e B - L RO S (5M)

C) Perform fhe vfc')llc')wi‘nu in binary arithmeti.-
i) 101

01 -1 10
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